

UPMC Shadyside School of Nursing

RN Program Cost of Attendance



Part-Time Program (32 Months) - Fall Start

School	UPMC Shadyside School of Nursing
Program Version	32 mo. Part Time Registered Nursing Program
Start Date	9/2/2025
Academic Year 1	9/2/2025 - 4/24/2026
Months in Academic Year	8

COA Breakdown	Commuter - 1st Level
Tuition (\$430.00 x 19.0 Credits)	\$8,170.00
Technology Fee	\$1,225.00
Housing	\$0.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$25,689.00

COA Breakdown	Off-Campus Resident - 1st Level
Tuition (\$430.00 x 19.0 Credits)	\$8,170.00
Technology Fee	\$1,225.00
Housing	\$13,192.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$38,881.00

*Cost of attendance is reviewed annually and is subject to change. Updates will be published as they become available.

UPMC Shadyside School of Nursing

RN Program Cost of Attendance



Part-Time Program (32 Months) - Fall Start

School	UPMC Shadyside School of Nursing
Program Version	32 mo. Part Time Registered Nursing Program
Start Date	9/2/2025
Academic Year 2	5/4/2026 - 12/18/2026
Months in Academic Year	8

COA Breakdown	Commuter - 1st Level
Tuition (\$430.00 x 17.0 Credits)	\$7,310.00
Technology Fee	\$1,225.00
Housing	\$0.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$24,829.00

COA Breakdown	Off-Campus Resident - 1st Level
Tuition (\$430.00 x 17.0 Credits)	\$7,310.00
Technology Fee	\$1,225.00
Housing	\$13,192.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$38,021.00

*Cost of attendance is reviewed annually and is subject to change. Updates will be published as they become available.

UPMC Shadyside School of Nursing

RN Program Cost of Attendance



Part-Time Program (32 Months) - Fall Start

School	UPMC Shadyside School of Nursing
Program Version	32 mo. Part Time Registered Nursing Program
Start Date	9/2/2025
Academic Year 3	1/4/2027 - 8/20/2027
Months in Academic Year	8

COA Breakdown	Commuter - 1st Level
Tuition (\$430.00 x 18.0 Credits)	\$7,740.00
Technology Fee	\$1,225.00
Housing	\$0.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$25,259.00

COA Breakdown	Off-Campus Resident - 1st Level
Tuition (\$430.00 x 18.0 Credits)	\$7,740.00
Technology Fee	\$1,225.00
Housing	\$13,192.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$38,451.00

*Cost of attendance is reviewed annually and is subject to change. Updates will be published as they become available.

UPMC Shadyside School of Nursing

RN Program Cost of Attendance



Part-Time Program (32 Months) - Fall Start

School	UPMC Shadyside School of Nursing
Program Version	32 mo. Part Time Registered Nursing Program
Start Date	9/2/2025
Academic Year 4	8/30/2027 - 4/21/2028
Months in Academic Year	8

COA Breakdown	Commuter - 1st Level
Tuition (\$430.00 x 18.0 Credits)	\$7,740.00
Technology Fee	\$1,225.00
Housing	\$0.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$25,259.00

COA Breakdown	Off-Campus Resident - 1st Level
Tuition (\$430.00 x 18.0 Credits)	\$7,740.00
Technology Fee	\$1,225.00
Housing	\$13,192.00
Food	\$3,792.00
Books/Course Materials/Supplies/Equipment	\$2,783.00
Transportation	\$6,048.00
Miscellaneous Personal Expenses	\$3,576.00
Average Federal Direct Loan Fees	\$95.00

Total: \$38,451.00

*Cost of attendance is reviewed annually and is subject to change. Updates will be published as they become available.

UPMC Shadyside School of Nursing

32 Month Track - Tuition & Fees



Part-Time Program (32 Months) - Fall Start

Semester 1 (Fall)		
Nursing 110A	5.8 Credits	\$2,494.00
College Writing	3 Credits	\$1,290.00
Technology Fee		\$612.50
Total:		\$3,784.00
Semester 2 (Spring)		
Nursing 110B	6.2 Credits	\$2,666.00
Anatomy & Physiology I	4 Credits	\$1,720.00
Technology Fee		\$612.50
Total:		\$4,998.50
Semester 3 (Summer)		
Nursing 201A	4.8 Credits	\$2,064.00
Anatomy & Physiology II	4 Credits	\$1,720.00
Technology Fee		\$612.50
Total:		\$4,396.50
Semester 4 (Fall)		
Nursing 201B	5.2 Credits	\$2,236.00
Human Growth & Development	3 Credits	\$1,290.00
Technology Fee		\$612.50
Total:		\$4,138.50
Semester 5 (Spring)		
Nursing 301A	5.5 Credits	\$2,365.00
Microbiology	4 Credits	\$1,720.00
Technology Fee		\$612.50
Total:		\$4,697.50
Semester 6 (Summer)		
Nursing 301B	5.5 Credits	\$2,365.00
Biomedical Ethics	3 Credits	\$1,290.00
Technology Fee		\$612.50
Total:		\$4,267.50
Semester 7 (Fall)		
Nursing 320	7.5 Credits	\$3,225.00
Technology Fee		\$612.50
Total:		\$3,837.50
Semester 8 (Spring)		
Nursing 340	5.5 Credits	\$2,365.00
Nursing 360	2 Credits	\$860.00
Technology Fee		\$612.50
Total:		\$3,837.50
Total Tuition & Fees:		\$26,282.50

*A credit hour is a unit of measure, not necessarily an indicator of transferability of credit.

The receiving institute, rather than the training institution, decides whether to accept credits for transfer.

**The tuition rate and fees are an estimate only.

***UPMC Shadyside School of Nursing tuition is \$430 per credit.